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QUESTION 1

Refer to the exhibit.

Core Core Core Core
Switch_A Switch B Switch_C Switch_D

Access Access Access Access
Switch_1 Switch_2 Switch_3 Switch_4

The topology shown in this exhibit implements Multiple Spanning Tree Protocol (MSTP), where all the switches are in
the same region.

How many MSTP instances, besides the Internal Spanning Tree (IST) or instance 0, does this network need in order to
have effective load sharing on the uplinks from the access switches?

A. two
B. three
C. four
D. five

Correct Answer: D

QUESTION 2

A customer is implementing a network using HP ProVision switches. Which default setting applies to the ProVision
switches?

A. All ports are disabled.

B. Routing is enabled.

C. Telnet is enabled.

D. A static IP address is assigned to VLAN 1.

Correct Answer: C
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QUESTION 3

Refer to Exhibit.

Server

The server shown in the exhibit requires redundant links, and The link aggregation should use LACP. What should the
administrator configure on the 1RF virtual switch?

A. a bridge aggregation interface that uses static link aggregation mode

B. a bridge aggregation interface that uses dynamic link aggregation mode
C. two interfaces that are set to trunk for the port-link type

D. two interfaces that are set to hybrid for the port-link type

Correct Answer: B

QUESTION 4
Refer to the exhibit.

Traditional 3-tier architecture HP simplified 2-tier network
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The topology shown on the left of the exhibit illustrates a traditional three-tier architecture. Which technology allows a
company to simplify their network with a two-tier topology as illustrated on the right of the exhibit.

A. Intelligent Resilient Framework
B. Software-defined Networking

C. Multiple Spanning Tree Protocol
D. Equal Cost Multi-Pathing

Correct Answer: A

QUESTION 5
Refer to the exhibit.

[Comware] telnet server snable

[Comware] user-interface wty 0 15

[Comware-ul-vty0-15] authentication-mode password
[Comware-ul-vty0-15] set authentication password cipher passwordl
[Comware-uli-vty0-15] user privilege level 1

[Comware-ui-vty0-15] guit

[Comware] super authentication-mode local

[comware] super password level 3 cipher password?Z

An HP Comware switch is using its default user-interface settings. The network administrator then enters the commands
shown in the exhibit. What correctly describes how an admin user must now log in?

A. When the admin user logs in to the console port, the admin user must enter either a password of passwordl or
password?2.

B. When the admin user logs in using Telnet, the admin user must enter either a password of passwordl or password2.

C. When the admin logs in using Telnet, the admin user must enter a password of passwordl and is given level 1
privileges.

D. When the admin user logs in to the console port, the admin user must enter a password of passwordl and is given
level 3 privileges.

Correct Answer: D
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